DWG NO SHEET
8 { 6 5 gv 3 2513354 | 1 | 1
COPYRIGHT 2013 TEXAS INSTRUMENTS REVISIONS
UNPUBLISHED, ALL RIGHTS RESERVED REV DESCRIPTION DATE BY
A |ECO #2136196 - INITIAL RELEASE 9/20/13
B |REVISED SCREW LENGTH 10/2/13 | RDR
D D
C C
—» <«
B B
1 11 |SCREW M2.5 x 0.45 x 25mm LG SHCS SCREW M2.5 x 0.45 x 25mm LG SHCS /97X
1 | 10 [SCREWM1.6x0.35 x 4.0LG SHCS SCREW M1.6 x 0.35 x 4.0LG SHCS \ 2/
2 9 |CONDENSER LENS - MELLES GRIOT LAG-15.0-12.0-C CONDENSER LENS - MELLES GRIOT LAG-15.0-12.0-C BN
1 8 (2513383 LAMP FOCUS RING 1/
1 7 |2513385 RETAINER RING, CL1
A 1 6 |2513384 HOUSING, CL1 UNLESS OTHERWISE SPECIFIED | R'Rowe 1312013 ia TEXAS A
1 5 2513389 RETAINING RING, CL2 © DIMENSIONS ARE IN MILLIMETERS Engr INSTRUMENTS
® TOLERANCES: ANGLES +1°
1 | 4 |2013388 HOUSING, ©1.2 2 PLAGE DECIVALS 0.5 SoEan ILLUMINATION MODULE ASSEMBLY
1 3 2513382 LAMP SOURCE HOUSING 1 PLACE DECIMALS #0.50
1 2 |2513386 CUVETTE HOLDER e DIMENSIONAL LIMITS APPLY BEFORE PROCESSES | CM
1 1 IR LAMP IR LAMP ;:I(;{JDE(?_”S:QE ] T;’SET?EEB[’;A;;’:SIONS IN ACCORDANCE WITH SIZE| DWG NO REV
ary | mem PART NUMBER DESCRIPTION Notes —— —————— * REMOVE ALL BURRS AND SHARP EDGES — B 2513354 B
v
Part List @"E‘ APPLICATION PARENTHETICAL INFO FOR REF ONLY Pp! Sone 154 ] [sneer 1 OF 2
SW-2010a 8 L 6 5 Af 3 L 2 1



|
(6
1

0o O % m <
<]
¢ <
w |
O |
o~
~ T17
w
u |
1 2] |

< 7

0

] |

©® |

°

0

- |
oy |
I
5 -
O 7
z
2 |¥
[a]
Y
N <
N
523 7
sl |

I |

)

w 7
|
|

< w
O% W
0® Nm
T 5
« ax I
|
n
&
N 7
=
8 |
22|

% 0

Bz

==

K |

- 3|

m1

N~

5
(9N
2

(8
1




	Sheet1
	Drawing View1
	Drawing View2

	Sheet2
	Drawing View3


